58. Work out

-2 |
10 oo

Give your answer as a decimal.

i)

Q.al..
(2
59. Expand and simplify (y-1)y-2)
=gt
4 L-—a +2
j’gj‘!"z—- ........
(2
60. The diagram below shows a pair of parallel lines.
/ S
7
4x - 20
2x + 50
N\
/ 7
Calculate the size of the angle, 2x + 50. 2(3@ 50 =10
Uy=20 = 2K +50
242 79

- 25K O o
.=35 L 120...
4)
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61. Here are the first five terms in a number sequence.

q 2 : ! —56’
7Je_ss_ge_to tr tT 2SO
3 3 3 3

(a) Find the 10t term in this number sequence.

2N + L
20+ &« = A4 3L

(b) Write an expression, in terms of n, for the nth term of this number sequence.

R\ RAe S
@)
H62 Factorise - 7 S -
a? + 3a
alar)
(1)
63. Faciorise X-3x— 1828
(X +3)(x~b)
(X‘LB)(X'@ ........
@)
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64. Aline has equation y=3x+4

(a) Write down the gradient of the line

(b) Write down the y-intercept of the line

(1)
65. -4=n<1
n is an integer.
(a) Write down all the possible values of n.
o Pt Tinl V. W= O
(2)
(b) Solve the inequality 4x + 11 <27
4x 4 \b
X L4
RET
(2)
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66. Tur'kisi) Lira
500 e
ol
400 ——
350 ==
300 s e
BOE e
100 ,’f,f:,,,_,, e e !
50 |

0 i y BRI LN SRR uE wxasssusEvas [
O 10 20 30 40 50 60 70 80 90 100
UK pounds

Richard has £300 and £800.
He buys a flight that costs £900

He pays use the £300 and some of the pounds.
Work out how many pounds he has left.
4o0 —300 =600
200 turlshh ey = £35S
00 tutnsh Wwa= 450
SO~ 150 = 6SO £ 630 ...

67. Factorise c2 - 36

[ +6)(c-6)

(1)
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68. Fiona leaves £1600 in the bank for four years.
It earns compound interest of 4% each year.

Calculate the total amount Fiona has in the bank at the end of the four years.

1boo w 1O = 13 F1-3336.

69. The table gives the circumference, in metres, of planets in the solar system.
The circumferences are given to an accuracy of 3 significant figures.

Planet Circumference (metres)
Mercury 154 x 107
Venus 3.81 x 107
Earth 4.01 x 107
Mars 2.13 x 107

Jupiter 4.39 x 108
Saturn 3.66 x 108
Uranus 159 x 108
Neptune  1.55 x 108

(a) Which planet has the largest circumference?

(1)
(b) Which planet has the smallest circumference?
M ex¢
Q/Tuulf\j ...................
(1)
(c) Write 1.54 x 107 as an ordinary number.
ISH 00 000
(1)
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X3+ 2x2 -1

(a) Complete the table of values for y

70.

1S

I

-0

Y

)

=x3 + 2x2 -1 for the values of x

(b) On the grid, draw the graph of y

-3<x=<2

Va
16

il

14
10

TTT

I
(RN
-14
-16

()
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2
71 (a) Complete the table of values for y = =

X -5 -2 -1 05 | 05

(WY
N
(&)

Yy [(-ok | | =) 1=l 1 4 L { O it

2

[\

(b) On the grid, draw the graph of ¥ = % for 0.5=x<10

=

x‘?

|

kot

()
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72, AB is parallel to CD.

A : B
y 6}
C > D
. P13
Work out the size of angle y. 2161

Give reasons for your answer.

CFE = FEG b fray are alfemerle Ongre
The manda lo isoscetes therefore £ FG and
EGF  ore equUal. -
ﬁﬂCj‘Q3 n enge add fo 10 5o 150 ISk =267
L
=2 =T

Hngles EGE od BGF ge i Cshougnt g $o 02y
musr add e 1307 Se y=167°

.........................
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73.  Use ruler and compasses to construct the perpendicular bisector of AB.
You must show clearly all your construction arcs.

(2)
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74. Below is a diagram of a hall.
There is a front door at one end of the hall and a patio door at the other.
There are two burglar alarm sensors, one at A and one at B.

The range of each sensor is 4m.
Hm = 4m
1cm = 1 metre

x 0

>

The alarm is switched on.

Is it possible to walk from the front door to the patio door without setting off the
alarm?
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75.

7cm 2cm

2cm

Find the surface area of this cuboid.
Include suitable units. _
F x2 z\Homt

A = Hem™
sz\_ 6’@”\7" \LlXU(:SbUY\L

o Bl
56 +% = bHum Lbuom

76.  Asolid silver spoon has a mass of 65.1g.
The volume of the spoon is 6.2cms3.
Calculate the density of silver.

©8 =gy G2

77. Acylinder is placed on a table.
The cylinder has a weight of 400N and has a diameter of 10cm.

i 2
Work out the pressure on the table in newtons/cm? Aveo: = e
= T(5Y
Pz B =

E 400 _g.cena 3%
A Ag]

....................
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78.  Shown below is a triangular prism.

8.5¢cm

6.8cm

Find the volume of the triangular prism.

_'_i(b-% X% '3)=32%9

I8 49 «Ivsz GALs

o BALAS e

(3)
79- y‘k
5
4
3
2
1

B % =8 -3 ¥ 0 2 3 A4 5 6%

.
2
3
4
5

Enlarge by scale factor 2 using
(4, -3) as the centre of enlargement
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80.

Work out the circumference of the circle.
Give your answer to 1 decimal place.

C =T
Adz=13

C = \BT
C=5634%- -.

81. The diagram below shows a shape made with centimetre cubes.

Front

(a) On the centimetre square grid, draw the front elevation.

()
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(b) On the centimetre square grid, draw the plan view.

(2
82.
\
A
’ X/ M< 2 2 m >
R U
20m
[Sx2o = L{SOml 15m
y []
30m
Calculate the area of the field.
Lk"i@ o = L%% N\L
L"?O ..... m2
(2
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83.

Calculate the volume of the can.

TT x 35 1l
- 112231496 - |
...... LYY 33 ome
3)
84.
7.4cm
O
Find the size of angle x
St(\ K= \:‘!Lf
C?,
v . sk
oz dm (/;\———
X =05- 251 -
i L
(3)
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85.

120°

15cm

Calculate the perimeter.

120, T x 30

360
= L1 2O
3

=3 41T

0215 +1S FR1- 459

P - b\-uisg...

86.

6cm

Calculate the area.
9_9_ KT 6+
36o
—{?ﬂ %26
B0 F g, 1

87. Shown is a sphere with radius 8cm.

Surface area of sphere = 47m/?

Calculate the surface area of the sphere.

© CORBETTMATHS 2019
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88. Acone has base diameter 8cm.
The height of the cone is 9cm.

Calculate the volume of the cone.

9cm
IR (A CREe
v 3
v = \S0- 1586

3 :
89. Given a= b
(o)

Work out 2a + b

o))

I
A;
=<

—

© CORBETTMATHS 2019
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Curved surface area of cone =17/

p

l

4

L



90.

Reflect shape A in the line x = 1
Yi

91.

g

rotate 180°

© CORBETTMATHS 2019
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92. Shown below are six triangles that are not drawn accurately.

........... C and .. ...
L B @
93. Shown below are two similar triangles.
25cm
y 20cm
chll
6cm X
(a) Find the size of x.
W . B w5
8 6 o
o = 1>, cm
(2
(b) Find the size of y.
8 by g = v 10......cm
(2
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94. (a) Complete the table of values for y = x2 + 2x + 1

3

[

)

(b) On the grid, draw the graph of y = x2 + 2x + 1 for the values of x from -3 to 3.

h

i, 0

AN

%]

o

v

[\

JL 0 .
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95. Solve the simultaneous equations

X+2y=16 O *L

2x-38y=2 (@D 3
Do not use trial and improvement
(;7( 'quj z ?)Z- 9 +2-u): b
@ $K-AY* 3K =2\
'33: Sk £ F Y
4=
X=...H .................... y=... L ..................
(4)
96. Maké_;/ the sﬁbject of -
\'}
t=—+1
4
Voo -l
L
V= L (E-D)
v=lEA)......
(2
or
S Ut -l
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97. Sarahis x years old.
Thomas is 3 years older than Sarah.
David is twice as old as Sarah.
The total of their ages is 51.

(@) Write an expression for Thomas’s age in terms of x.

.S T
(1)
(b) Write an expression for David’s age in terms of x.
K
(1)
(c) Form an equation in x and solve it to work out Sarah’s age.
« 4 x43 +x=S)
Ly x4 3=5]
Ly =HE
%2 T E
S S
(2
98. Write down the equation of the line that is parallel to y = 6x + 1 and passes
through (0, 8).
8=C
3 - b X er .
| i&ibﬁiﬁ .......
(2)
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99. The table gives information about the meals ordered on a Sunday.

Meal Frequency ngiﬁ 360~ 90=4"
Chicken 14 X4 | SE°
Beef 9 yy |3°
Pork 57 gy |87
Vegetarian 10 <4 | Lo
- = ,

Draw an accurate pie chart to show this information.

@
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100. Simplify the following.

3 =
S XS q = B
2 7
)
5‘5’
(2
101. Write down the exact value of Sin 60°
J3
...... 2
(4))
1~02 Belév?are two t'rianAg‘Ies, ABC énd I§5D - -
D
1icm
X
C
6cm
A 7cm 8
Find x LE43° - ace BCE+ == RD*
5 = &CF 106 = BD*
A= I35 Jack = 8D

.......... ! "13gcm

4)
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103. Shown is a circle with radius 5cm.

Work out the area of the circle. P(-. Tir
State the units for your answer. Pf e T((Q'S)
Give your answer to 2 decimal place. P(" e EAG%

104. The map below shows the position of two towns.

Find the bearing of Ballyclare from Antrim.
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105.
6cm

4cm

Xcm

The area of the trapezium is 34cm2.
Work out the value of x.
Lla) <N
2
BN ARE
2
(6+x) ¥ 4 =63
btx =13
X =1 [V om

106. A number, n, is rounded to 1 decimal place.
The resultis 1.8

Using inequalities, write down the error interval for n.

35S n<l- 35

1-3S SNLEY
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107. There are two different packets of the same type of paper in a shop.

400 sheets
150 sheets
Small Regular
75p £2.08

Which of the two packets gives the better value for money?
You must show your working.

cm of S0 nd W =1200

i@-%% *A D= £E6 ‘ “Thercfore tha SVigi PC(Q(/(Q{’
il@z’ﬁz - 1624 iS5 bettty valoR .

(4)

108. Use your calculator to work out the value of

/(254 —5.9)?

Give your answer to 3 decimal places.
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109. Geraint has 2p and 50p coins in the ratio 20 : 3

Write the ratio of the value of the 2p coins to the value of 50p coins in its
simplest form.

A ARG =R
Sz A =199

LO: \SQ a1

A3 S
L\/__
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